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1. Two identical sinusoidal transverse waves travel in the same direction along a stretched string. Each

wave has an amplitude ym = 2.0 cm and wavelength L. The phase difference between the two waves is
0.20 A.

(a) What is the phase difference in radian?
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(b) What is the amplitude of the resultant?
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2. A standing wave, having three nodes, is set up on a string fixed at both ends. If the frequency of the

wave is doubled, how many antinodes will there be?
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A wave on a stretched string is described by the displacement wave:
¥y (x,t) = 0.400 sin (300t — 15.0x)
where x and y are in meters and t is in seconds,

(a) What is the speed of the wave? -
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(b) What is the maximum transverse velocity?
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(c) What is the tension in the string if the linear mass density is 60 g/m?
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(d) What is the phase difference between two points on the string 21.0 cm apart?
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(e) What is the average power transmitted by this wave?
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1. Two sinusoidal waves travel simultaneously through the same medium. The first wave is
described by yi(x,t) = ym cos(kx—mt) and the second wave by y2(x,t) = ym cos(kx—ot + @). If

the amplitude of the resulting superposition is ym/2, what is the value of ¢ in wavelength?
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2. A string, fixed at both ends, has a fundamental frequency fi. = 248 Hz. The tension 1 in the
same string is changed so that the new fundamental frequency is fy = 496 Hz. What is the value

of the ratio t/1a?
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